PROPRIETARY NOTICE:

THIS DOCUNENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC.,

(ALSO DBA LIGHTWAVE RESEARCH) AND 1S GIVEN 10 THE RECEIVER IN EDNHDEN([

THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTEMS, THE RECEIVER WILL HOT PERMIT THE USE OF THE DOCUMENT OR AWY COPY THEREOF

INFORMATION THEREIN, WILL

HOT COPY OR PERMIT COPYING THE DOCUMERT WILL KOT DISCLOSE TO OTHERS EITHER THE DOCUMENT
OF THE NEED 10 RETAIK IN[ DOCUMENT, OR UPON DEMAND, RETURN THE DOCUMENT WIINOUT RETAIHING ANY OF THE [NFORMATION COMHIH[D THEREIN [N ANY FORM WHATSOEVER

OR THE INFORMATION THEREIN, AND WILL UPDN COMP[[T\ON

I 10 9 8 1 6 [} 3 [}
REV DESCRIPTION DATE ENG ECO # |APPR
- RELEASED FOR PRODUCTION
SCALE 0.500
2 FS754 90409082 HARNESS, COLOR MIXING X-SPOT
| FSA036 80190078 WHEEL, ASSY, COLOR MIX CYAN ¥X-SPOT
| FSA043 80190080 WHEEL, ASSY COLOR ¥CTB X-SPOT
| FSA03I 80190082 WHEEL, ASSY COLOR MIX YELLOW X-SPOT
| FSA034 80190079 WHEEL, ASSY COLOR MIX VCTO X-SPOT
| FSA032 80190081 WHEEL, ASSY COLOR MIX MAGENTA X-SPOT
| FSA038 80190077 WHEEL ASSY, COLOR SEGMENT X-SPOT
4 FS209 90706120 WASHER, THRUST,10.2 X 14.6 X |.27mm
2 [SP132 90706083 WASHER, THRUST, OPTICAL MODULE ASSY
4 SP056 90717024 TUBING, RED SILICONE, 3/16 ID X I/4 OD
2 TIE_WRAP3-4 99330007 TIE WRAP 3in, din, 105C BLK
3 | SCREWM4ACBSS 91100408 SCREW, M4 SOCKET CAP 08 SS SEMS
4 |SCREWM3AC6BZ 91000306 SCREW, M3 SOCKET CAP 06 BZ SEMS
4 SCREWM3AB06BZ 91010306 SCREW, M3 BUTTON 06 BZ NYTEMP
3 |WASHERGLET 90706006 LOCK WASHER, #6 EXTERNAL TOOTH
2 FS536 90411062 INSULATOR, OPTICAL SENSOR
| FSAO40 80560029 FLAG, ASSY, LOWER X-SPOT
| FSA039 80560030 FLAG, ASSY, UPPER X-SPOT
| FSAOTY 80190083 COLORMIX, ASSY DRIVETRAIN TURNKEY
2 |CLIP_50_PUSH_ON_NY [9070127I CLIP, WIRE .50 DIA, PUSH MOUNT
2 |CT413 80040021 BOARD, SENSOR MINIATURE ASSY COLOR PRO HX
2 FSTII 80010131 BOARD, ASSY MOTOR DRIVER MODULE 3773
2 FST09 80040022 BOARD, ASSY ME46 FLAG HOMING SENSOR
ITEM NO.| QTY. FILENAME PART NO DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERWISE SPECIFIED [RELEASE DATE: APRIL 29, 2001]CE: High €nd 2208 WEST BRAKER LANE
DIMENS [ONAL TOLERANCES ENG: D FRANKLIN QA: = “[g:'z“ 1%,\33;2 58
0 PLACE DECIMAL = ME - = FAX (512) 832-8542  LIGHTWAVE
| PLACE DEC hiAL - 30.35
2 PLACE DECIMALS =0 13 [MFG: DRW: L ROESSLER svereme® http://wnw.highend.con RESEARCHe

ANGLES = £0.5°

FOR PAINTED PARTS REFER TO

DESCRIP’

TION
MODULE, COLORMIX WHEEL ASSY,

X-SPOT

T

I

ENG. SPEC. MANUAL SOP-4.4.2 |wATeRIAL: FINISH:
TR CHARTED NA
MIN. RADII INTERPRET DIMENSIONS PER Sl [ DRAWING NO. REV
FLATNESS ASME Y 14.5M-1994 _
THICKNESS THIRD ANGLE PROJECTION wnic 180200044 [FSA008
VOLUME DIMENSIONS ARE 1N NMiLLIMETERS| AT Foovorsaae [SCALE: 0.625 [SHEET: 1 OF 2
7

g

T




24 23 22 2 20 19 8 " 16 15 it 13 12 " 1 9 8 1 6 [} 3 [}
FSA008 REV DESCRIPTION DATE ENG ECO # APPR
L i 5
=
)
—
—
L
T T T T T
R (] C I I T &=
ol
CENTER 6—,
UNLESS OTHERWISE SPECITIED|RELEASE DATE: APRIL 29, 2001|CE: High €nd 303 VEST BRAER LaNE
SECTION CENTER-CENTER DIMENSIONAL TOLERANCES: |ENG: D FRANKLIN QA A (5121 832-0363
SCALE  1.250 ? ng gggm:t : iggg ME - Qg’ FAX (512) 832-8542 LIGHTWAVE
2 PLACE DECIMALS =0 13 [MFG: DRW: L ROESSLER sveveme® hip://unw.highend.com RESEARCH,
ANGLES = £0.5 DESCRIPTION
FOR PAINIED PARTS RETER 10 |MODULE, COLORMIX WHEEL ASSY, X-SPOT
ENG. SPEC. MANUAL SOP-4.4.2 |MATERIAL: FINISH:
TR CHARTED NA
PROPRIETARY NOTICE: MIN. RADII INTERPRET DIMENSIONS PER [SBER DRANING NO. REV
THIS DOCUNENT CORTAINS CONFI0CNTIAL AND PROPRIETARY INFORMATION OF HIGH END STSTEWS 1KC.. (ALSO DBA LIGHTWAVE RESCARCH) AND 1S GIVEN 10 THE RECEIVER N CONFIDENCE. FLATNESS ASME Y14, 5M-1994 8 O 2 O O O 44 F S A O O 8 B
THE RECE IVER ACCEPTS AND AGREES THAT, TACTPT AS AUTHORIZED BY IGH END SYSTEUS, THE RECEIVER WILL NOT PERMIT THE USE OF THE DOCUNENT OR ANY COPY THEREOF OR THE THIRD ANGLE PROJECTION METRIC
INFORMATIOK THEREIN, WILL HOT COPY Of PERMIT COPYING THE DOCUMENT WILL MOT DISCLOSE 10 OTHERS EITHER THE DOCUMENT OR THE IFORWATION THEREIN, AND WILL UPOH COWPLETION THICKNESS
OF THE NEED 0 RETAIN THE DOCUNENT, OR UPOK DEWAND, RETURN THE DOCUNENT WITHOUT RETATHING ANY OF THE INFORNATION CONTAINED THEREIN IN AKY FORM WRATSOEVER VOLUME DIMENSIONS ARE IN MILLIMETERS DO NOT SCALE _ [SCALE: 0,500 [SHEET: 2 OF 2
T 3 T 0 [E] ] T

T %

g T




